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Admission Exam

- Subject: English Languuge

Part one: Read the following passage, and then answer the questions below.

discascs. We sav they are immune to these discases Inthe |
called Edward Jenner observed that people who looked after
caught smallpox. even in epide
was ofien fatal. Jenner noticed
milder discase than smallpox. So. he hypothesized thal a
suhsequently be protected against the most serious smallpox.

boy developed a shght [e
serapings from the pustules on a smallpoy victim. and rubbe
boy's body. The hody stayed healthy and showed no signs or symptoms ol smallpox. yet we now

know that these scrapings must have contained the smallpox virus.

discases are caused by viruses thal are very similar. When
produce the antibodies to destroy the cowpox virus, the
infections with the smallpox virus. However, it is very
disease-causing organism confers immunity
the cowpox virus is transmitted to man fro
procedure became known as vaccination. and the virus extracis now use

It has been noticed for a long time that certain people in a population never develop particular
8" Century England. a country doctor

cattle and milked the cows very rarely
mic silwations. At that time. smallpox was quite common. and it

that the cow handlers often developed cowpox. which is @ much
person who had caught cowpox might

In 1796. Jenner tested his hypothesis by deliberately infecting a young boy with cowpox. The
ver and a rash but soon recovered from the infection. Jenner then ook
d a tiny quamity into a scratch on the

smallpox. This is not true. but the two
the white cells in the blood *learn” to
same anmtibody also destroys subsequent
unusual to find that immunity to onc
1o another, different disease-causing organism. Since

m cattle. and the Latin name for ‘eow’ 1s vaeen, the
d in immunization are

Jenner believed that cowpox was simply a mild form of

known as vaceine.

Chaoose the correct alternative (A, B.COR D). (2 marks for every item)

Z

3.

The suitable title of the passage ahove can be...

a) Malaria b) Chelera ¢) Vaccination and Smallpox d) Diseases
Which language gives us the root for the word yaccination?

a) Latin b) Arabic ¢) English d) French

What was Edward Jenner's profession?

a) ageologist b) a geographer c) a doctor d) a farmer
The cowpox virus is transmitted (o man from cows.

a) frue b) lalse ¢) incorrect d) I don't know.

It in line (5) refers back to ...
a) smallpox b) Edward Jenner  ¢) England  d) epidemic situations

What are the symptoms of cowpox?

a) Cough h} stomachache c¢) feverand arash  d) influenza
Cowpox and smallpox are caused by so different viruses.

a) ftrue b) false ¢) correct d) | don't know.
The word 'vacca' in linc 18 above means ...

a) Cow b) chichen ¢) fish d) birds

The word "however' in line 16 means...

a) furthermore b) in addition c) but d) as well as
Was smallpox quite common in the 18" century?

a) Yes, il was. b No. 1l was not. c) Yes.itis d) No. it doesn't.

Part two: Choose the correct alternative (a, b, c, d).

11, The cNEINCErs .vevvenerieireemsnsssssssansennnesin the project site since five hours. We do not

know when they will finish.
(a) has worked (b) have been working (c) works (d) working
Follow on the next page.
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12. YOU CON USE 1ureeeseseenneint oTET L0 speak politely to ladic.
tn) Mrs (by Mr (c) Sir td) (b and <)
I-‘. Thi‘ “'u“ [3 Rﬂl“g t'Iili-lnlti!til'i!illiii““e" ““'\.#

() 10 be painted (b) painting (2) paints (d} to be paint \&

| [ I move vour fingers?
(n) Can vou (b)Y Do sou can (c) ] am can id) You
I5. ..........they are late. let us start withont them,
{a) As well  (b) Moreover (c) Consequently (d) Since
16, Carbohs drates provide body with o \Q
fa) enerey (b) poisen (c) gas (d) steam (D'
17. People should Keep coevneeneeeeeevarm during winter, \k‘
ta) voursell (b) himselfl (c) themselves (d) ourse\es

I8, The students need SOME covvevereeeeesefrom their teacher.
() informations (b) information (¢) a picce ufunf-.mnati;ﬁd‘i none of these
1

19, That old man was o injurcd vesterday in a horrible a
) baa (h) padly (€1 Wors u.’ll& .
20, Ask one of vour friends .............the farm for you.
() 10 picueh (b) plough (e} plouglad (diya and D)
21. Onc of the following words is not compound. 4
(o) Tooth transplant {b) tcaspoon (<) c_Tc ps (d) frendliness

22, Our physiology exam will he cooveeennes Luly 4.

(a) in {h)yon (c)at (d)of
23, We plant trees in our garden. The underlined %ﬁl is wun o

{n) verh {h) noun t@u.lm: id) adverb
20, Richer seale is used to measure the ﬂ\v of carthquake.

(i) strong (1) strength Q stronger () strongly
25, Salt dissolves in water. The unﬁrrlim&w{l d dissolyes means:

(a) particles (b) melts ‘\ l)ﬁ becomes solid (d) gas
N @




